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STH-D-HST

HISTORY (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

STH-D-HST/34 1 [ P.T.O.



WUs—A / SECTION—A

1. f=fafaa weml # @ U &1 @9 150 Tl H SHTeeHTeTss qEm i

Critically examine the following statements in about 150 words each : 10x5=50

(@) ‘TR TSA & fawed i qad % howewy g unl’

“The Maratha polity disintegrated through internal stress.”

(b) TS (T AT TA) WSl 1 THE AEE MRA § AT 6 Sal & faeg 396 gud
¥ fafea wefta & 31"

“The chief value of Raja’s (Raja Rammohan Roy) labours seems to lie in his
fight against the forces of medievalism in India.”

(c) ‘@ ¥ YA o i fafew Hifa sl wasd § falRw sidegearen & forw envwe @ oty

“The British railway construction policy in India benefitted British economy in
the nineteenth century.”

(d) ‘o TE W 9Rd A ufvaw ¥ smafaa feufaat o aftoms % w9 4, goidar difehea:, =g T
ST gehat g1

“The Arya Samaj may quite logically be pronounced as the outcome of
conditions imported into India from the West.”

(e) ‘it TR T® H WHINGE GUR A= H, WA (W) uftisy 6 3fE ¥, w wum
AeEgq o1’

“Sri Narayana Guru’s was a major intervention in the social reform movement
from a subaltern perspective.”

2. (q) gt A § sl f g & e IaEnh wRe w1 we AR | e Tde weEr |
FH-Y IR Y™ AT A7

Explain the factors responsible for the recurrence of famines in the nineteenth
century. What remedial measures were adopted by the British Indian
Government? 20

(b) TG WA % I, § WEwqul WIS qE1 o Wi Sl 9Q1 A W SHERGE] 6l e
1 AT HIfIY)

Assess the role of press in arousing awareness on important social issues in
the second half of the nineteenth century. 20

(c) TSTE % HUTHEM W IR o 9 Al ffen smin ufte & yga fammi w1 ik S|

Underline the major considerations of the British imperial power that led to the
annexation of Punjab. 10

STH-O-HST/34 2




3. (a) TR ARG i I 6 FRET T HIRY qe1 TR 3§ Hifahial T 366 g7 ) fd=mn
Hifs |

Trace the origin of the Ghadar movement and discuss its impact on the
revolutionaries in India. 20

(b) a8 T8 I f fFa HR01 1942-1946 F A 9RA % WIS FGNY F THEH e
TIE SR & T |

Explain why the efforts at finding solution to India’s constitutional impasse
failed during 1942-1946.

N
o

(c) 1920-1940 % SR FFum w1efl & 1A F9% M=IeHl & @ed il fom=m Hfg

Discuss the nature of peasant movements under the Kisan Sabhas during
1920-1940. 10

4. (a) Too=m AT 6 T % TemRl A R TR IR % = 9 % SR w waw e o aun 5|
TR HHTSAETE 6 T Agwqyl @l %l IETS Hel o1

Discuss how the Satyagrahas of Gandhi removed the spell of fear among
Indians and thus knocked off an important pillar of imperialism., 20

(b) WAHA-3IT Ay # FagH @ Wenfieht & fawEi 3 w5 9% IRa B g % 9y w
R TR 27

How far the developments in science and technology in post-Independence
period put India on the path of modernity? 20

(c) v "9 &% e T Faradt % ga geia efifen To (SRR Wife wm)” @ik
‘TEd gueal (Wefed uiiie) % wWEy W g ey

Throw light on the nature of ‘Instrument of Accession’ and ‘Standstill
Agreement’ signed by the Princely States with the Indian Union. 10

@Uis—B / SECTION—B

5. frafafea wuAl & @ g% &1 @ 150 W61 H HTARATAS qham Hifve

Critically examine the following statements in about 150 words each : 10x5=50

(@) “‘HE F qeb hl GAIRWET qAT I G AT hl GAIAT, T (STEESTRE) F
wETel dhgfeare % fovg difss ufafen % w 3= fog &1 g o)’
“Kant’s redefinition of reason and his rehabilitation of conscience marked a

high point in the intellectual reaction against dominant rationalism of the
Enlightenment.”
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(b)

(c)

(d)

(e)

6. (a)
(b)
(c)
7. (o)
(b)

“me § ANREE ¥ FEe WA B omwld wed GuRt F D B are SHed s B

Rt 1 SR TSHEY % S % O s e on)’

“The spirit behind the great reforms of Napoleon’s Consulate at home was the
transference of the methods of Bonaparte the general to the task of Bonaparte
the statesman.”

‘Uz Tored W =TidR STRied i SIS IR ®9 W USHIGE Td IR T A i off)”

“The roots of the Chartist movement in Great Britain were partly political and
partly economic.”

“18 SHall, 1871 S <l arhd Ud E % e fas 1 &7 o1 9= 28 4, 1919 39 08
&1 fe e’

“18 January, 1871 had been a day of triumph for the strength and pride of
Germany and 28 June, 1919 was the day of chastisement.”

0 FaF, 1989 =l afceiH R & fawEw 3w 1w % =R ® T w1 yem e oy

“The collapse of Berlin Wall on 9 November, 1989 brought new meaning to the
idea of cooperation in Europe.”

TE FIT T §oig ATl i o1 2Tgd T8 HROT SF1 91| |1 & 396 |HTNIh TROmHT T
ft s e1feru)

Explain why England became the harbinger of Industrial Revolution. Also
throw light on its social consequences.

wom fova g 1 ey sfaem # wem wepl’ gg < wmn e g oft?
Why was the First World War termed as the first ‘total’ war in modern history?

fara=m ifste, for Sty goe & w1y me el 7 3 1848 it il #1 fohm TR Ieud
fora o)

Discuss how agrarian crisis accompanied by severe industrial depression
triggered the Revolutions of 1848.

S ThIRT & WA o1, TeHre & @iy, e fufes sl 3 gafsa fen an?

What determinant factors, along with diplomatic, shaped the process of
German Unification?

T4 FYF H & FHive T Tenifamar’ F @@ A [T FEad 1917 H w6 g 96
% aui & 3fag@ w @ wefea R o1, wifyg 3@ e % T @ fva % vl sfoem @ o
wrfera R e’

Examine the statement that “the danger of ‘Bolshevism’ dominated not only the
history of the years immediately following the Russian Revolution of 1917 but
the entire history of the world since that date”.
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(@)

(b)

(c)

e e 7 Seflar & Toe ard smiel & gnfed G So w9 § BeeEs B fha
FRU e & T

Explain why Bolivar’s efforts failed to fructify in bringing about united stand
of the Latin Americans.

3ecll § SHaA I IWTE P Td BIEAEE qHRTE i e e arel aRfEfeEdt @ gheor
i |

Examine the circumstances which led to the overthrow of democracy and the
establishment of Fascist dictatorship in Italy.

1980 % T e ANA-3Td, Wifaad €9 6t WA e 9 F Toh HEwIRs B gfiER §
TE W@e A FEmd o)’ ymmr s

“By 1980s, the Communist System of Soviet Union was incapable of
maintaining the country’s role as a Superpower.” Substantiate.

TR § 9 gEIdRE &+ W& % qhee FHifg)

Examine the nature of Dutch imperialism in Indonesia.

oo

10

20

20

10
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